= O
N 2 0l & AF S E A A
20108 &= =04 LB ME =X ~ AE=sT
A SHE =X
A MUTE SH(SHHSSA/LL - ME)
Sl =XB2 B (69 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
AHE =X 15,408,582 15,190,213 218,369
= 5,637,736
z 2,010, 121
= 1,594,815
= 6,165,910
METE SE(SYHSSA/A - AE) 3,281,155 2,423,798 857,357
= 1,817,013
= 357,590
i 1,106,552
=Xs2 &5 79,606 114,992 N 35,386
=2 6,888
L= 3,377
= 59,341
srgdd = 13,010 8,785 4,225
301 LetEasg 11,010 8,785 2,225
07 B12+oI=2/ (| 8,000 5,775 2,225
OYHZ0F 21201 =2/ H| 1,000, 000& 20 *40/100 8,000
10 HALAHIZ &3 3,010 3,010 0
Ogg=ssIt s & dEWa &It 3,010
—= 68,000 x20H 1,360
—ZUW 55,000& *30 1,650
307 ©I2+0| & 2,000 0 2,000
03 AtRIEMELS 2,000 0 2,000
OLL=AXE2 S MM X2 2,000,000& 2,000
Jt2 =2t 23,900 83,078 A59,178
206 2| 3,900 3,900 0




ARI= T Dt
MR SH(SEHSSL/UY - AE)
=XB2 25 el e
- _ _ NE
SH - EB - S(BH) - MBAY - BES arey Siatel ==ET
01 T2l 3,900 3,900 0
OXHALX 228 DEHZ 7Y 12,0002 *200 2,400
OXHALX 2l &yl 7 3,0008 *500% 1,500
401 AEHIL 20 20,000 79,178 A59,178
01 Al&| 20,000 79,178 59,178
OJ24 L AT AIZZ2| AL (110kn) 10,000, 0002 *23] 20,000
=N EIE 28,146 19,629 8,517
=2 16,888
= 3,377
2 7,681
101 o121 28, 146 13,629 14,517
= 16,888
& 3,377
2 7,881
04 JIAH2RRSES 28, 146 13,629 14,517
O2HIEF AL 28, 146
—CA=RRE 14,073,000 * 124 14,073
= 8,444
= 1,689
2 3,940
—stD% BCHO0IE 14,073,00024 14,073
=2 8,444
= 1,688
2 3,941
LIS aldl #Al 14,550 3,500 11,050
206 T = bl 14,550 3,500 11,050
01 T2l 14,550 3,500 11,050




S AR =R D
A MU SH(STHSLL/YY - AE)
Sl =X =S (e @
SA - EH - SRA(B) - NRAY - B2 0f et o e Bl DE 2
OUSR&IIHAL AHUR 2 S 7,000& «750= 5,250
OUse 25z &d R=E7Y 1,000,000& *9.3ha 9,300
ZES LRI 321,122 903, 188 A582,066
dB0E 238 24 321,122 385,194 A64,072
101 1A 15,840 0 15,840
04 JIZtHZE2NSES 15,840 0 15,840
Octedsd 2 FZ2E= 222 AY 33,0003 204 A #x2H x 120 15,840
201 et 6,960 1,200 5,760
02 3323l 6,960 1,200 5,760
OaZd & Uelatz2 IRk 80,000 12& 960
Octed 82 &JIR= 500,000& *12& 6,000
401 AIEHIZ R0 298,322 383,994 N85,672
01 A&l 296,900 383,400 286,500
OZZ AL 59,000
—g< 600,000& *15km 9,000
—JIEt 500,000 *10km* 102 50,000
OAZd 4R Y2tet X 500, 0003 *5J1 A 2,500
OAIOHAl B8tk 2SS4t ZEAME 20,0003 *100m*5H A 10,000
ORS& ZdAE 10,000 *300m" x11JH & 33,000
Oootghizs 24 10,0003 »2,300m *3JH A 69,000
Oz, Jtedle S AlIJHA et=4 X 100, 000& *1,000m 100,000
Ok=Z23 A3% X4 900& *26,000m’ 23,400
03 A& = HH 1,422 594 828
O43d 22 & 254 =d, stE€Al 197,400,000 *0.72% 1,422
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0¥ iz rx
o0
v > i

=

{0 >
&

A S (SYWYLA/YY - AE)
S

m

0
e
10

SN B EP(EH) - HIRAN -

2 (A
R
J2H

Ol

==

x4 703,391 557,518 145,873
2 439,917
[= 80,676
2 182,798
BHERA X8 570,995 414,033 156,962
2 406,279
= 50,942
2 113,774
401 AIEHIZL S THHI 405,342 213,285 192,057
2 272,673
= 39,797
2 92,872
01 Al&H] 402,064 211,533 190,531
O2HIE X ALY 402,064
— XTEIAIY AIAI&N . 222 (90ha) 25,457,0002 14! 25,457
2 17,820
= 2,291
2 5,346
—ZAR% LErx2(61ha) 90,049,0002! 90,049
2 50,041
= 12,248
2 27,760
—ar2l(87]) X8 (17ha) 49,524,0002 49,524
2 38,947
= 3,332
2 7,245
— ME} =2 (100ha) 58,919,0002! 58,919
2 38,003
= 6.468
2 14,448




A SHE =X
A MYUTE SH(SHHSSA/UL - ME)
ool AHY T4 (69 &2
- _ _ XN -
S - HE SR (B) - MRAY - BES 04 &t o8 e RS2
—HiOl=2t& =& (50h) 175,739,000 175,739
= 126,014
= 15,300
i 34,425
—Z&Xl Bl2FII(11ha) 2,376,000 2,376
= 1,848
= 158
= 370
03 AIZR0i4l 3,278 1,752 1,526
OZHIEZ ALY 3,278
— A M= Erx 2 (61ha) 90,867,000& *0.90% 818
—&=2|(8J]) Z&(17ha) 50,065,000 *1.08% 541
— 24 Ef & 2 (100ha) 59,563,000 *1.08% 644
—HI0l 2= &8 &= 4 (50ha) 177,014,000& *0.72% 1,275
402 I XHE01HE 165,653 200,748 A 35,095
= 133,606
& 11,145
= 20,902
01 QI EEX 165,653 200,748 235,095
OZHIEZ ALY 165,653
—SEEX Z2(37ha) 93,872,000& 93,872
= 73,012
L= 6,258
i 14,602
—=4dBH =+ == (10na) 21,940,000& 21,940
= 12,940
= 2,700
= 6,300
—QXX EAME X&(2.3nha 9,841,000& 9,841
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i
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i
0z
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>
12

20
R
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Ol
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12,000, 000&

28,000,000&

SR

W

H

7.654

2,187
12,000
12,000
28,000
28,000

W

132,396
33,638
29,734
69,024

143,485

A 11,089

401 A&

M

132,396
33,638
29,734
69,024

143,485

A 11,089

01

03

[l

=
[m

=

Ao
T 4

HT

0 40 B

— o~

O
>_

=

R

L

|
o
C C
Ok
IS

A

ne

88,369,000&

42,757 ,000&

89, 172,000& *0.90%
43,224,000 *1.08%

A

Mok

131,126
131,126

88,369

33,638
16,768
37,963

42,757

12,966
29,791

1,270
1,270
803
467

142,313

1,172

A11,187

98

i
o
IS

Jn

R

96,360

48,960

47,400
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B

A =T
BT S (SHHY LY
AHRIAS ALY SERE)
= A CESI(SIH) - HISAY - BYS Aol e =2
A B4 5 86,360 48,960 37,400
101 ol 21H| 39,600 29,760 9,840
04 JIZHMIZ2ZANEE S 39,600 29,760 9,840
OAFAFAIE ST =& QIEAIY L DIMESH AIE QR AIS 33,000& »20H 40 26,400
OA/AAIE G X 2t2] QIR ALS 33,000& »2H x200 13,200
201 B3| 3,560 4,200 A 640
02 ss249Hl 3,560 4,200 A 640
OAFAEEXILE & D) 130,000& 12& 1,560
OAFAFEEX] 2E2| AF 2,000,000 * 14! 2,000
202 (4| 3,200 0 3,200
01 Z2UW Y| 3,200 0 3,200
Ot MA0IEH =8 BE=EEXNE 20,000& x4H x40 3,200
206 M =4I 10,000 15,000 A5,000
01 M=Hl 10,000 15,000 A5,000
OMAOIEH X 10,000, 000& 10,000
401 AlEHIL 20| 30,000 0 30,000
01 Al&HI 30,000 0 30,000
OpbarEEX] &AH 2 ZEAF ( 30,000,000& 30,000
ASUAZE MAT R 10,000 0 10,000
402 QIZ2tXHE201A 10,000 0 10,000
01 QIZEXE2E xR 10,000 0 10,000
Ox=WAMAl B 10,000
O AMSEXS =] 20,000, 000& * 14! x50% 10,000




SN
X XH .
S Tt

el

M

0
r
10

- EHRI(E) - NIRAY -

i
0z
Jo

(0]
(L]

H

2 (A
R
J2H

Ol

==

QS AALD 1,851,304 654,940 1,196,364
2 1,248,752
[= 243,046
2 359,506
AMSRET 683,800 200,800 483,000
2 473,000
= 80,720
2 130,080
402 QIZXFE0|A 683,800 200,800 483,000
2 473,000
= 80,720
2 130,080
01 683,800 200,800 483,000
o 683,800
FEE5I KA (16) 32,000,0002 32,000
2 16,000
= 4,800
2 11,200
40,000,0002! 40,000
2 20,000
= 6,000
2 14,000
583,800,0002 583,800
2 417,000
= 66,720
2 100,080
QI AFS HACCPEE X2 28,000,0002! 28,000
2 20,000
= 3,200
2 4,800
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00 rxrx
[z 0uU U

Paa
]

=
I =d(s
= dabojer e EE
£491 (3 ) - By e 52
e A5 282,000 0 282,000
= 148,000
= 67,000
= 67,000
402 2I12tX 282,000 0 282,000
= 148,000
= 67,000
o 67,000
01 2i2t 282,000 0 282,000
= 282,000
— Ol M XI R (19HA) 220,000,000% 220,000
= 110,000
= 55,000
= 55,000
- IZ2d (100 4) 42,000,000& 42,000
= 28,000
= 7,000
o 7,000
—HOTHEHAIZ X1 (200 ) 20,000,000 20,000
= 10,000
< 5,000
= 5,000
L= 15,504 454,140 A438,636
= 7,752
< 2,326
= 5,426
402 gzt 15,504 454,140 AN438,636
= 7,752
S 2,326
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S AR =X
M M
H

ool 2

i)
=
10
o
0
P
o

SA - HE - SR(3) - HRAY - BAS of Bl

x
2
2 (A
R
J2H
0l
N

SMHOIEE X & 45,220 144,200 98,980
19,380
2,868
22,972

o

402 QI2EXHE01M 45,220 144,200 98,980
19,380
2,868
22,972

MW

2 45,220 144,200 98,980
T A 45,220
S X (17CH) 45,220,000& 45,220

19,380
2,868
22,972

M

SBSINHEHIES 184,152 0 184,152
92,076
27,623
64,453

H

201 et 7,152 0 7,152
3,576
1,073
2,503

M

2eltl 7,152 0 7,152
K& AL 7,152
JIHEE =4 RXIdl(200) 2,000,000& 2,000
1,000

300

700
— LI HEH 2FHI(20H) 5,152,000& 5,152

R

==

MW




S AR =X
M M
H

e [E=PARE (Stel &)
SA - H O (BH) - MBEAY - B2 Of) & 04 &%Ei Hn=2
= 2,576
& 773
o 1,803
405 XHAFFE S HI 177,000 0 177,000
= 88,500
& 26,550
- 61,950
01 MY S EF SHI 177,000 0 177,000
O=2Z2H| K& ALS 177,000
—AADHHH ES(ASE2AXI3H) 24,000,000& 24,000
= 12,000
== 3,600
- 8,400
—AAIHEHIES(AEANOISXIITH) 10,000,000& 10,000
= 5,000
& 1,500
o 3,500
—AADHHY ES(REDH 104) 63,000,000& 63,000
= 31,500
= 9,450
= 22,050
—AAI|HZEH ES(EHEZMII 1CH) 80,000,000 80,000
= 40,000
& 12,000
- 28,000
AMEIHE ST (SEHYLEA/AH - AFE) 4,373,068 4,564,583 A 191,515
= 254,986
2 2,010,121
c 424,254
iy 1,683,707
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S AR =R D
B MR DS (SYNYSL/YY - NE
Sl MEAY JIUEE chol: & 2
SN BB SR(S) - MRAY - BES Loy e s
& g JlegEs 4,373,068 4,564,583 A 191,515
= 254,986
& 2,010,121
& 424,254
i 1,683,707
SELAE T4 & 2l 289,958 127,810 162, 148
101 Q14| 13,200 15,980 22,780
04 JIZHMIZ2XESE =+ 13,200 15,980 22,780
OHdEls =Xl 2l R 33,000& 1 »200 6,600
OMEl= H=&Y 22 33,000 108 20 6,600
201 Let2IH| 11,300 9,600 1,700
01 AtE22|H] 6,500 6,000 500
OMEl= SEotE &X 5,000,000& * 104 2 5,000
OMEss2 84 7Y 150, 000& * 104 1,500
02 2523l 4,800 3,600 1,200
Odtis 28 dIIRS 400,000 123 4,800
206 M=l 2,500 27,500 A 25,000
01 M=H| 2,500 27,500 225,000
OMH= Hlg ¢ 5,000 500X 2,500
401 Al&HI LR OHYI 255,158 74,730 180,428
01 Al&HI 254,040 73,930 180,110
OMEl= &2 4 100, 000& *850m 85,000
OMEf= Ord3t X =4 2,500& «201 22,0002 10,000
OJHzs &1 4,946,000 «5I4 A 24,730
OZ2MAE &2 3,000& *2,500m" 7,500
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o
0v U QU

w2

Ml

S

HoH(SHYLA/U - AE)
ohstE

m

0
r
10

SN B EP(EH) - HIRAN -

0x
o

>
12

20
R
J2H

==

Ol

7,880

04 JIAHZ 2SS E=

O=ZHIEXZAE

—MEMEIOIS 2E0LIN dH(29)

28,145,000

H

28,145
28,145
28,145

16,887
3,378
7,880

26,208

1,937

401

AEHIRL 20

Ml H od

543,000
380,000

48,900
114,100

493,000

50,000

01

543,000,000 *0.63%

539,579,000&

M HNoR

539,579
539,579

539,579

380,000
48,900
110,679

3,421
3,421
3,421

490,135

2,865

49,444

556

A

84,435
50,661
10,133
23,641

2,552,256

A2,467,821

101

elals]

[l

W

84,435
50,661
10,133
23,641

26,633

57,802
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X ZH -
S Tt

=EaE
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0v pu gu
0¥ 0¥ Ji
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o &
T 0x
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- EHRI(E) - NIRAY -
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12

2 (A
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J2H

Ol

==

04 JI2tHZZX

tS
O3HIEZ AL
o

=2y =oi&

H A
- T

56,290,000&

28,145,000&

o

M

84,435
84,435

56,290
33,774
6,755
15,761
28,145
16,887
3,378
7,880

26,633

57,802

Moo W

1,155,977

160,733
780,121
103,543
111,580

473,100

682,877

401 AIEHIZ 20

Ao A

—_

,165,977

160,733
780,121
103,543
111,580

473,100

682,877

01 Al&HI

O
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|
0 0° 02 02 Jnm

N N N
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[\
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w

>~ H 4
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678,810,000 *2.99%
263,130,000 #3.73%
26,708,000& *6.06%

658,512,000

M H OR

—_

, 148,170

968,647
20,297
9,815
1,619
658,512

546,490
68,312
43,710

469,693

678,477

_16_




SN A ST
B MR BHSH(SYNYA/AY - HE)
CHl MBI JIBIEE chol: @ 2
- _ _ NUE &
SN HH . C(B) - MRAY - BHS 01l it o =2
— & 2RI EF(4km) 253,315,000& 253,315
= 212,031
= 26,504
i 14,780
— & B2 (6km) 25,089,000& 25,089
& 21,600
= 2,700
= 789
O=HIE At 179,523
—MEUX LT MAIAEA(1.0km) 179,523,000& *4.08% 7,325
— SR S (1. 0km) 172,198,000& 172,198
= 160,733
= 6,027
= 5,438
03 AIZ 204l 7,807 3,407 4,400
OZ=S3AY 6,505
— A S A A (3. 4km) 683, 113,000& *0.63% 4,304
— 2l & PN 2 (4kn) 265,039, 00024 %0.72% 1,909
— 2 & & == (6km) 27,000,000 *1.08% 292
O=HIE At 1,302
— &SR S (1.0km) 180,825,000& *0.72% 1,302
AHETHOH ol 2 154,239 202,288 A48,049
= 705
= 153,534
201 LEH2HH| 705 0 705
= 705
01 AtS22lHl 705 0 705
OZHIEZ ALY 705
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SN AR SR
o MY LS (SHHSSA/LY - ME)
Sl MEPY JIBES ool H R
_ _ HEc -
SH BB S(BH) - MBAY - arey Siate ==ET
—IA L =RRRINE 705,0002! 705
2 705
308 XX EHHISOI & 153,534 202,268 748,754
05 MAIEH AR 153,534 202,268 £48,754
O2IEFAL 153,534
— AFX| 2 AFR (2. 0ha) 9,720,000% 9,720
— AHEFES (67§ 4) 35,000, 0002 135,000
— AP ES(9HA) 5,670,000%! 5,670
— APEEARYS EFEIEEOH(BIHA) 2,870,000%! 2,870
— AP E 2 (4ha) 75,0002 75
— AP FZ (5 L) 199,000% 199
B AT 2,000 522, 140 A520,140
2 1,000
= 300
2 700
402 BIZHXH 0| 2,000 522, 140 £520, 140
2 1,000
= 300
2 700
01 PIATEBE 2,000 522, 140 £520, 140
OZHIEZA 2,000
—gRel2 AlLXIR (Tkn) 2,000,000%! 2,000
2 1,000
= 300
2 700
ISESTHIE S5 1,700,000 0 1,700,000
z 850,000
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SN A ST
HE: N2YY BASH(SUNSFA/LY - ME)
Sl MEAY JIUEE (Sl &)
- _ _ XN -
SH-HH . G(BH) - NRAY - BES Ofl AF o4 07'5@ HRZ2
= 255,000
2 595,000
401 AIEHIL2CH] 1,700,000 0 1,700,000
z 850,000
= 255,000
2 595,000
01 Al 1,693,880 0 1,693,880
OZE3IH AL 1,693,880
—TEYE T4 (ML) 1,693,880,0002! 1,693,880
z 850,000
= 255,000
2 583,880
03 Al&=OHH] 6,120 0 6,120
OZE3|H AL 6,120
—TeBYY £4 1,700,000,0002 *0. 36% 6,120
A el 252,314 49,133 203, 181
401 AIEHIL2CH] 252,314 49,133 203, 181
01 Al 250,315 48,608 201,707
OYTAIE BHII A 1,617,320 %32Kn 51,755
OlES4 MEf: NHEYEY NUYZTH 190,400, 00021 *14] 190,400
OlE4 MEf: NHEYEY NUREH 200,000, 0002 *4.08% 8,160
03 Al&=CHHI 1,999 525 1,474
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CHel: APXIXHE Bt (69 &2
- _ — XN -
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— MBI A 2TEE SHHI(20Z) 47,733,0002 47,733
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